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QUESTION 1

Which two statements accurately describe the invoking of a human task? 

A. A web service client in a different composite can invoke a human task. 

B. A human task can invoke another human task in the same composite. 

C. A BPEL process can invoke a human task in a different composite. 

D. A human task can invoke another human task in a different composite. 

Correct Answer: CD 

 

QUESTION 2

Which dashboard should you use to gauge the overall efficiency of a user for a specific process? 

A. workload per process on a standard dashboard 

B. workload per participant on a standard dashboard 

C. performance per participant on a standard dashboard 

D. a custom dashboard 

Correct Answer: B 

 

QUESTION 3

Which two are valid use cases for a business service? 

A. load balancing XML messages between multiple service endpoints using different transports 

B. load balancing SOAP messages between multiple service endpoints addressed by different URLs 

C. load balancing MFL messages between multiple service endpoints based on server load 

D. routing a Java message to a JMS error queue after three failed load-balancing attempts 

Correct Answer: CD 

 

QUESTION 4

The identity context is opaque to your web service client and web service and you don\\'t need to perform any additional
coding or processing in your client or service to support it after you enable identity context propagation. 

Which Oracle SOA Suite component directly enables this behavior? 
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A. Oracle Web Service Manager Policy Manager 

B. Oracle BPEL Process Manager 

C. Oracle Enterprise Manager 

D. Oracle User Messaging Service 

Correct Answer: D 

 

QUESTION 5

Which tool would you use to enable more detailed logging of SOA components? 

A. WebLogic Console 

B. Enterprise Manager 

C. BPM Workspace 

D. WebLogic Diagnostics Framework (WLDF) 

Correct Answer: D 
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